DOUBLE COMPARISON
1.Để diễn tả sự thay đổi theo thời gian của sự kiện, chúng ta dùng so sánh kép.

* So sánh tăng dần .

- Tính từ, trạng từ ngắn:   S + to be /  V+ adj / adv – er and adj / adv – er  : càng ngày càng

- Tính từ, trạng từ dài :     S + to be / V+ more and more adj / adv : càng ngày càng
Eg: The exercises get more and more difficult.

      Lan is fatter and fatter

* So sánh giảm dần



S + to be /  V + less and less + adj / adv : càng ngày càng ít
Eg: The weather is less and less cold

2. Để diễn tả mối tương quan nguyên nhân - hậu quả của sự biến đổi của hai sự kiện chúng ta dùng.

* * So sánh tăng dần .

- Tính từ, trạng từ ngắn:   (The + adj / adv- er + S + to be / V, …)2  : càng…càng

- Tính từ, trạng từ dài :    ( The more + adj / adv + S + to be / V, …)2: càng…càng

Eg:  The harder he studies, the better he gets

                 Adv          V                Adv       V
       The more expensive the car is, the more comfortable it is
3. So sánh của danh từ.


(The more + noun + S + V,…)2
Eg: The more books you read, the more knowledge you can get.

4. So sánh của động từ.


( The more + S + V ,…)2
Eg: The more he earn, the more he wants.

Practice

1……………you study for these exams, ………..you will do.

a. The harder/ the better
b. The more / the much


c. The hardest / the best
d. The more hard / the more good

2. My neighbour is driving me mad! It seems that………….it is at night , ……………he plays his music!

a. the less / the more loud
b. the less / less


c. the more late / the more loudlier
d. the later / the louder
3. Thanks to the progress of science and technology, our lives have become………….

a. more and more good

b. better and better

c. the more and more good
d. gooder and gooder

4.The Sears Tower is…………..building in Chicago.

a. taller
b. the more tall
c. the tallest
d. taller and taller

5. Peter is……………John.

a. younger and more intelligent than
b. more young and intelligent than

c. more intelligent and younger than
d. the more intelligent and younger than

6.Robert does not have………….Peter does.

a. money more than
b. as many money as
c. more money as
d. as much money as
7. It gets…………..when the winter is coming.

a. cold and cold           b. the coldest and coldest
           c. colder and colder
      d. more and more cold

8.French is a…………language to learn than English is.

a. difficult
b. more difficult
c. most difficult        d. more and more difficult

9. Of the two students, Sarah is the ……………

a. most intelligent
b. more intelligent
c. intelligent               d.most intelligently

10.A car is……………….than a motorbike.

a. cheap
b. cheaper
c. expensive
d. more expensive

11. Thanks to the great effort of doctors and nurses, her health is  getting…………….

a. worse
b. better
c. worse and worse
d. better and better

12. Day by day we are all getting…………..

a. older and older
b. fatter and fatter
c. wiser and healthier
d. richer

13. The more you work, the…………you can earn.
a. more promotion
b. more tired
c. more money
d. more experience

14. The more I live with her, the …….I understand her.

a. more
b. most
c. best
d. deeper

15. The more………you eat, the fatter you become.

a. vegetables
b. fish
c. meat
d. fruit

16. Nowadays everything is getting………….

a. more expensive

b.more expensive and more expensive

c. more and more expensive
d. the most expensive

17. The fatter I become, the…………I run.

a. quicker
b. more slowly
c. slower
d. more fast

18. The winter is coming, it is getting…………

a. more cold
b. the more cold
c. colder and colder
d. the most cold

19. he learns English…………….than we do.

a. badly
b. badlier
c. more badly
d. worse
20. Their house is……………beautiful than mine

a. as
b. more
c. much
d. so
Choose the underlined part among A,B,C or D that needs correcting.

11. The fastest you drive, the greater you get.


a
           b      c                       d

12. This exercise is much more easier than the others.


 a         b                       c            d

13. Prevention is more cheaper and more effective than any kind of treatment.


         a                             b                       c           d

14. They treat women more equally as people in the North.


a                     b       c                 d

15. The Amazon and the Nile are the two larger rivers in the world.

        a                                        b                   c                d

16. John can play tennis much better more than I can.

                       a                  b                      c            d

17. Don’t you think this is most boring film you have ever seen?

          a                       b               c                                     d

18. London is much more exciting as I expected.

                          a                    b       c           d

19. The large the room is, more people can sit in it.

            a                         b           c                       d

20. The suitcase seemed to get heavy and heavier as I carried it along the road.

                               a                    b                c                                 d

WRITING

Choose the correct sentence among A,B,C or D which has the same meaning as the given one.

21. The more money Peter makes, the more his wife spends.

a. Peter spends more money than his wife.

b. Peter and his wife both make money.

c. Peter spends the money his wife makes.

d. Peter’s wife keeps spending more money.

22. The exam was much easier than he had expected.

a. The exam was much easier that he finished it all.
b. He did not find the exam as difficult as he had thought.
c. It’s possible for him to perform well on the exam.
d. He had expected that the erxam was easy.

23. Peter drives more carefully than Tom.

a. Peter is a more careless driver than Tom.

b. Tom doesn’t drive as carefully as Peter.
c. Peter isn’t a more careful driver than Tom.
d. Tom drives less careful than Peter.

24. The book interested me more than the film.

a. I thought the book was more interesting than the film.b. In my opinion the film was not as interested as the book.
c. I thought the book didn’t interest me as the film.

d. In my opinion the film bored me than the book.

25. The South of England is drier than the North.

a. There is not as much rain in the south of England as in the North.
b. There is not as dry in the North of England as in the South.
c. It is not so dry in the South of England as in the North.
d. There are more rains in the North of England as in the South.

26. No one in the team can play better than John.

a. John plays well but the others play better.

b. John as well as other players of the team plays very well.

c. Everyone in the team, but John, plays very well.
d. John is the best player of the team.
27. He only feels happy whenever he does not have much work to do.

a. The more he works, the happier he feels.

b. The less he works, the happier he feels.
c. His work makes himfeel happy.


d. He feels happier and happier with his work.

28. I learn a lot but I cannot remember anything.

a. I learn more and more and remember more and more.
b. The less I learn, the more I remember.

c. The more I learn, the less I remember.


d. I remember notonly what I have learnt.
29. As I get older, I want to travel less.

a. I’m getting older and older, so I don’t want to travel more.
b. The more I get old, the less I want to travel.

c. I don’t want to travel because of my old age.


d. The older I get, the less I want to travel.
30. More petrol is consumed nowadays than ten years ago.

a. Not so much petrol was consumed ten years ago as nowadays.    b. Petrol consumption is going down nowadays.
c. We had more petrol ten years ago than we do nowadays.
        d. We should consume as much petrol as possible.

